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Applying Overhead in a Standard Costing System [LO5]
Mosbach Corporation has a standard cost system in which it applies overhead to products based on the standard direct labor-hours allowed for the actual output of the period. Data concerning the most recent year appear below:

 

 

 

Variable overhead cost per direct labor-hour

$

3.50

Total fixed overhead cost per year

$

600,000

Budgeted standard direct labor-hours (denominator level of activity)

 

80,000

Actual direct labor-hours

 

84,000

Standard direct labor-hours allowed for the actual output

 

82,000



Requirement 1:
Compute the predetermined overhead rate for the year. (Omit the "$" sign in your response.)
Overhead rate

$

[image: image5.wmf]

list



 HTMLCONTROL Forms.HTML:Hidden.1 [image: image6.wmf]

2



 HTMLCONTROL Forms.HTML:Text.1 [image: image7.wmf]



 HTMLCONTROL Forms.HTML:Hidden.1 [image: image8.wmf]

1


per DLH
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Requirement 2:
Determine the amount of overhead that would be applied to the output of the period. (Omit the "$" sign in your response.)
Overhead

$

[image: image11.wmf]

list



 HTMLCONTROL Forms.HTML:Hidden.1 [image: image12.wmf]

2



 HTMLCONTROL Forms.HTML:Text.1 [image: image13.wmf]



 HTMLCONTROL Forms.HTML:Hidden.1 [image: image14.wmf]

1


[image: image15.png]



[image: image16.png]


Hint 1




Bottom of Form

_1311730787.unknown

_1311730789.unknown

_1311730790.unknown

_1311730788.unknown

_1311730783.unknown

_1311730785.unknown

_1311730786.unknown

_1311730784.unknown

_1311730781.unknown

_1311730782.unknown

_1311730779.unknown

_1311730780.unknown

_1311730778.unknown

_1311730777.unknown

